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Temperature Conversions Name:
Date:
Cquations:
Isius (C) to Fahrenheit (F) Fahrenheit to Celsius
=(Cx1.8)+32 C=(F-32)+1.8
Celsius to Kelvin (K) Kelvin to Celsius
K=C+273.15 C=K-273.15
Freezing Temp. Vaporization Temp.
1. Celsius O ‘(DO
2. Fahrenheit 3 7— 2- \2

W)

Use the space to show your work:

4. 25°C = 17 oF 12,
I 5. 200°F = (olo . K 13.
6. -40°C = —4H0 oF 14.

7. 25°F = B SESE) °C 15.

8. -140°C = 12%.]5. K 16.
9. 40°F = -40 - 17.
10.25¢c = LA%.5 k 18.
1.92F = 33.33 < 19.
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L C=(F-32)-1.%

JE = Cex]. 8N+ 37

=07 x1.pYr 3T

S G7 =232 5= 5

= [F4.6 3L = 0+1.9
= 206.(o°E o 5 O

1Al (=k-292 15 F=(c »[.8>*372
(25%p) = 200-273.(5 = R26.85%.%)+32

= 26.85°¢ = H48.33 +32

= R0.33°F
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